ODDILL

NAVIJECI
ZGRIZENI

REEL SYSTEMS




Navijeci zafizeni

< >Z

Model: 38A 39
6016044 184
6016054
12 1F 10 9D

so16o71 45 o9 8 s

%] / '

Stoin: '%ﬁom‘ bazénu
Poci edge)
HEEG 2] 19a

//Na\:@ﬁzenf pevné, s nastavitelnou vyskou stojny
Reel system fixed with adjustable height of stand
Aufwickelungsvorrichtung einstellbar
Machine enrouleuse réglable

Model: 39

38A
6015044 188
6015054
6015071 1211 109A 8 6
7/ .//415\.\ :

/
N

/Navfjecf zafizeni pojizdné

— Reel system mobile
308 Aufwickelungsvorrichtung mobil
Machine enrouleuse roulante (mobile)

\
\\ 31 32 30A

B %
Model: 38A -
6018044 188
6018054
potgo71 442
L .
oadl e

21 19a 7

-
Navijeci zafizeni — 1 stojna pfenosnd/1 stojna pevna s kloubem

Reel system — 1 foot portablell foot fixed with jount
Aufwickelungsvorrichtung Stander fix mit Gelenk + Stander portabel
Machine enrouleuse, avec poteau fixe a articulation + poteau portable

v ) |\
LN | 31 32 304
5 2627




Navijeci zafizeni

Model: 38A 39
6013044 iy
6013054
6013071
[ )
III 19a
t
1
" | - (
2 ; = 2 = iy
| - 2 b e Navijeci zafizeni pevné
i 5 363/ Reel system fixed
Aufwickelungsvorrichtung fix
‘ \ { \ Machine enrouleuse fixe
P 4 A \
|\ \ 31 32 30A
5 26 27
Model: 38A 39

6014044 188
6014054
2010 al
6014071 ARy 3¢ A
L]
¥ / / \
74 .

Navijeci zafizeni pfenosné
Reel system portable
Aufwickelungsvorrichtung portabel
Machine enrouleuse portable

Model: 38A 39
6017044 188
6017054
6017071

" Navijeci zafizeni pfenosné, T-stojny
Reel system portable, T-steands
Aufwickelungsvorrichtung portable mit T-Standern
Machine enrouleuse portable 3 montants en T




Navijeci zafizeni

Model:

6015144
6015154
6015171

40C

Udrzba

PrestoZe jsou stojny navijeciho
zafizeni vyrobeny z nerezové
oceli AlISI 304, je nutno provadét
jejich pravidelnou udrzbu.
Bezpodminec¢né je nutné

dodrzovat
spravné hodnoty bazénové

vody, pfedev§im volného chloru/
max. 1 mg/litr/apH/7,2-7,6/.

Daéle doporuéujeme stojny min. 2
x mési¢né pomoci pfipravku na
osetfeninerezové

oceli odistit a odstranit tak
vSechny organické a
anorganické nedcistoty,
usazeniny chloru a
zkondenzovanou vodu.
Vapenaté usazeniny odstranujte
dle potreby.

Po kazdém oSetfeni stojny
osusSte a nakonzervujte
pfipravkem na konzervaci
nerezové lesténé oceli.

\
31 32 30A

Maintenance

Reel system should be maintained
regularly in spite of the fact, that it is
produced from stainless steel AISI
304. It is absolutely essential, that
proper values of pool water are
maintained, especially free chlor
(max.1 mg/l)and PH (7.2-7.6).

Futher is recommended to cleanse
the legs of reel system with the
special detergents at least twice a
month, to remove organic and non-
organic  pollutants, chlorine
sediment and water condensate.
Calcium sediment has to be

removed if necessary.

After each service the legs have to
be dried and worked over by rust
proofing agent for the stainless steal

1109 8 6
i \

Navijeci zafizeni podéIné pojizdné
Reel system mobile driwing long

38A
188 39

Aufwickelungsvorrichtung mobil langsverlaufend
Machine enrouleuse roulant en sens longitudinal

Wartung

Weil die Verbindungspfosten der
Aufrollvorrichtung aus rostfreiem
Stahl AISI 304 hergestellt sind,
sind sie regelmaBig zu warten.
Es sind unbedingt die korrekten
Werte vom Schwimmbadwasser
einzuhalten, vor allem was freies
Chlor /max. 1 mg/Liter / und pH
/7,2-7,6 / anbelangt.

Ferner empfehlen wir, die
Verbindungspfosten
mindestens 2x monatlich mittels
des Pflegepraparats fiir
rostfreie Stahle sauber zu
machen und damit jegliche
organische sowie anorganische
Verschmutzung,
Chlorablagerungen und
Kondenswasser zu beseitigen.

Kalkablagerungen nach Bedarf
entfernen. Nach jeder
Behandlung die
Verbindungspfosten abtrocknen
und mit dem
Konservierungspraparat fir
rostfreie polierte Stahle
konservieren.

Entretien




detail identifikace popis detail identifikace popis
6 V600-6 NZ-OSA DELSI-VAGNER 20X110 M8X20 6a V600-6a NZ-OSA KRATSI-VAGNER 20X75 M8X20
RS - AXE LONG 20X110 M8X20 RS - AXE SHORT 20X75 M8X20
NZ-VOLANT S RUKOJETI NZ-VLOZKA PVC DO STOJNY (POUZDRO)
7 V600-7/1 RS - HAND WHEEL 8 V600-8 RS - BEARING SLEEVE
NZ-VLOZKA PVC CERNA DO STOJNY NZ-STOJNA PRENOSNA K VOLANTU NEREZ
8b V600-88 RS - BEARING SLEEVE BLACK 9a V600-9a RS - PORTABLE STAND ST.STEEL
NZ-STOJNA KE KOLECKUM NEREZ NZ-STOJNA PEVNA NEREZ
9b V600-9b RS - STAND ST.STEEL 9c V600-9¢ RS - FIXED STAND ST.STEEL
od V600-9d NZ-STOJNA PEVNA NASTAVITELNA NEREZ % V600-9e NZ-STOJNA PRENOSNA NEREZ -T- ZAKLADNA
RS - FIXED STAMD PORTABLE RS - PORTABLE T-STAND ST.STEEL
of V600-9f NZ-STOJNA OTOCNA S KLOUBEM NEREZ o V600- NZ-STOJNA PODELNE POJiZDNA NEREZ
RS - ROTAT. STAND TIP-UP JOINT 9 9 RS - MOBILE LENGTHWAYS
NZ-UNASECi BUBEN NZ-PODLOZKA M8X24NEREZ DIN9021 PRO NZ
10 V600-10 RS - END BOSS " V600-11 REEL SYSTEM - WASHER
NZ-MATKA M8 S JISTENIM DIN985 NZ-ZASLEPKA 35MM IN
12 V600-12 REEL SYSTEM - NUT 3 V600-13 RS-STOPPER 35MM IN
148 VE0O-14A NZ-ZARAZKA PLASTOVA-ARETACE 14b VE00-14B NZ-MATKA M5 CTYRHRANNA
NZ-SROUB NEREZ S PLASTOVOU HLAVOU NZ-TRUBKA VNITRNI 1,35M
& V600-36A RS - SCREW ST.STEEL 162 V600-16a REEL SYSTEM - TUBE INNER 1,35M
NZ-TRUBKA VNITRNI 1,85M NZ-TRUBKA VNITRNI 2,7M
160 V600-16b REEL SYSTEM - TUBE INNER 1,85 16c V600-16¢ REEL SYSTEM - TUBE INNER 2,7M
NZ-TRUBKA VNEJSi 2,7M NZ-TRUBKA VNEJSI 1,85M
17a V600-17a REEL SYSTEM - TUBE OUTER 2,7M 176 V600-17b REEL SYSTEM - TUBE OUTER 1,85M
19 VE00-19A NZ-MATKA ARETACNi M6 CTYRHRANNA 20 V600-20 Ir\'t/lzéilgous ARETACNi  M6X12PULK.HLAVA
REEL SYSTEM - BRASS INSERT SCR
NZ-VRUT NEREZ S VRTAC. 4,8X13 DIN 7504N Navijeci zafizeni — Jezdec do teleskopické tyce
21 V600-21 REEL SYSTEM - SCREW 25 V600-25 RS RUNNER FOR TELESCOPIC POLE
. Navijeci zafizeni — Pfezka na tkaloun . Navijeci zafizeni — Tkaloun pro upevnéni félie
26 V600-26 RS BUCKLE FOR STRAP 27 V600-27A 1m,modry(baleno po 50m)
RS STRAP FASTEN THE POOL COVER 1M
. Navijeci zafizeni — Uchyt tkalounu komplet (2x plast. . NZ-UCHYT TKALOUNU S OKEM
30 V600-30 &roub+desticka) 80a  V600-30a RS HOLDER OF STRAP WITH O-RING
RS STRAP CATCH
NZ-UCHYT TKALOUNU NZ-MATKA PLASTOVA
30b V600-30b RS HOLDER OF STRAP 31 V600-31 RS - STRAP CLAMP NUT M6 x 10
NZ-SROUB PLASTOVY NZ-KOLECKO K NAVIJAKU NEW DESIGN NG12
82 Ve00-32 RS - STRAP CLAMP SCREW M6 x 10 40C V600-40C
NZ-KRYTKA STREDU KOLECKA S LOGEM VA Set 6 ks pro ukotveni NZ pevného
42 V600-42 STAINLESS STEEL COVER OF MIDDL 44 V600-44 SET 6 FOR FASTENNING OF RS FIXED
45 V600-45 Navuec.:l zgrlzenl — Set 8 ks pro ukotveni NZ 50 V600-44A Navijeci zafizeni — Set 3 ks pro ukotveni NZ s
nastavitelného kloubem
SET 8 FOR FASTENNING OF RS FIXED SET 3 FOR FASTENNING OF RS FIXED
54 V600-54 NZ-ZAJISTOVACI ZATKA KOLECKA

Pro produkty: 6010036, 6010044, 6010046, 6010054, 6010071, 6013000, 6013044, 6013054, 6013071, 6014000, 6014044, 6014054, 6014071, 6015000, 6015044, 6015054, 6015071, 6015100,
6015144, 6015154, 6015171, 6016000, 6016044, 6016054, 6016071, 6017000, 6017044, 6017054, 6017071, 6018000, 6018044, 6018054, 6018071




< >Z

Navijeci zarizeni pevné s elektrickym pohonem

50

31 32 30

2526 27

30a

detail identifikace popis detail identifikace popis

o veme T o s vems  NEWOZARNCDOSTONT(POLZDRO

V0t STaND ST STERL 0 D FRED W ELORVE

0w EEERES

10b  V600-10b NZ-UNASECI BUBEN PRO EL. POHON 761 001 1" V600-11 NZ-PODLOZKA M8X24NEREZ DIN9021 PRO NZ
STAINLESS STEEL END BOSS FOR E REEL SYSTEM - WASHER

12 V600-12 gé—ENLIAST \rg\Tl\él'f\sA s #IIS:I_I'ENiM DIN985 142 VEO0O-14A NZ-ZARAZKA PLASTOVA-ARETACE

146 V600-14B NZ-MATKA M5 CTYRHRANNA 15 V600-15 gg—-SSSXIEEZQERAE\ll(VY KOMPLET

veera  NEIREANESEM

19 V600-19A NZ-MATKA ARETACNI M6 CTYRHRANNA 2 V600-20 :\;AZE-;%JZOUB ARETAGNI  M6X12PULK.HLAVA

REEL SYSTEM - BRASS INSERT SCR




detail identifikace popis detail identifikace popis
NZ-VRUT NEREZ S VRTAC. 4,8X13 DIN 7504N Navijeci zafizeni — Jezdec do teleskopickeé tyce
21 V600-21 REEL SYSTEM - SCREW 25 V600-25 RS RUNNER FOR TELESCOPIC POLE
Navijeci zafizeni — Pfezka na tkaloun Tkaloun pro upevnéni solarni folie
26 V600-26 RS BUCKLE FOR STRAP 27 Vve00-27 Tape for holding of solar cover
NZ-UCHYT TKALOUNU S OKEM NZ-UCHYT TKALOUNU
30a V600-30a RS HOLDER OF STRAP WITH O-RING 300 V600-30b RS HOLDER OF STRAP
NZ-MATKA PLASTOVA NZ-SROUB PLASTOVY
31 V600-31 RS - STRAP CLAMP NUT M6 x 10 32 V600-32 RS - STRAP CLAMP SCREW M6 x 10
NZ-ZASLEPKA PLAST 8MM IN NZ S Set 6 ks pro ukotveni NZ pevného
33 V600-33 ELEKTROPOH 50 V600-44 SET 6 FOR FASTENNING OF RS FIXED
RS STAINLESS STEEL END CAP PLA
NZ-SKRIN OVLADACI PRO EL. POHON NZ MSSN Kligenka — vysilag signalt spinajici
52 V600-48 RS CASE OF CONTROL ELECTRIC DR 53 5203001 KEY-RING SIGNAL
TRANS.SWITCHING-2CHANNELS
Priuchodka PG 9 ¢erna NZ-ZASLEPKA 30MM IN
54 52090091 ADAPTOR SOCKET CONNECTION PG 9 55 V600-49 RS STOPPER 30MM IN
55 V600-50 NZ-ZASLEPKA 30MM IN S DIROU 15MM 56 V600-47 NZ-POHON ELEKTRICKY 12V 535/7 PRO NZ

RS STOPP 30MM IN WITH HOLE 15M

RS ELECTRIC DRIVE 12V 535/7 FO

Pro produkty: 6019000, 6019044, 6019054, 6019071, 6019300, 6019344, 6019354, 6019371




N
Uchyt plachty
)/




Uchyt plachty

detail identifikace popis detail identifikace popis
Nerezova Nerezovy
1 PANO001 . 2 DRI010 )
Stainless steel Stainless steel
Nerezova prezka Nerezova pruzina
3 BUCO01 Stainless steel 4 bar buckle 4 SPR002 Stainless steel spring
Mosazna hmozdinka Nerezova
5 FBA0OT Brass flush - fix anchor 6 SPROO1 Stainless steel
Vyménna pfezka Kolik do zemé
7 BUC500 Replacement slide bar buckle 8 STA003 Stainless steel ground stake 500mm
Bila zatka Nerezova karabinka s hmozdinkou
o PLU020 White cap 10 EYEBOOS Stainless steel EYEBOLD

Pro produkty: PFBA001, PSPR001, PSPR002, PSPR002.1, PSTA003







